Table 1: Initial Claims by Local Workforce Area (LWA)

July 2020

Local Workforce Area	All Programs	UI	UCFE	UCX
State Total	107,324	107,253	40	31
Bluegrass LWA	32,575	32,570	4	1
Cumberland LWA	9,905	9,905	-	-
EKCEP LWA	4,682	4,677	5	-
Green River LWA	3,277	3,275	-	2
Kentuckiana Works LWA	26,854	26,836	13	5
Lincoln Trail LWA	4,054	4,047	2	5
Northern Kentucky LWA	5,637	5,634	2	1
South Central LWA	6,837	6,833	-	4
TENCO LWA	2,525	2,520	5	-
West Kentucky LWA	7,815	7,802	8	5
Interstate	659	650	1	8
Commuter	2,504	2,504	-	-

Includes all claims in which state funds are involved, including UI-only claims, and joint claims involving state UI with UCFE or UCX.

Table 2: Non-Monetary Determinations by Local Workforce Area (LWA)

July 2020

					UI Issues			
Local Workforce Area	Total All Programs	UI	UCFE	UCX	SEP	DISQ	NSEP	DISQ
State Total	8,671	8,649	16	6	4,730	3,661	2,919	2,580
Bluegrass LWA	1,398	1,393	4	1	1,005	618	388	312
Cumberland LWA	667	667	-	-	462	338	205	173
EKCEP LWA	729	728	1	-	465	345	263	242
Green River LWA	298	297	1	-	215	127	82	75
Kentuckiana Works LWA	2,310	2,304	3	3	340	839	964	885
Lincoln Trail LWA	577	575	2	-	417	250	158	142
Northern Kentucky LWA	709	708	1	-	454	287	254	229
South Central LWA	574	574	-	-	383	249	191	171
TENCO LWA	380	380	-	-	237	153	143	129
West Kentucky LWA	653	650	1	2	472	295	178	151
Interstate	107	107	-	-	86	54	21	16
Commuter	269	266	3	-	194	106	72	55

Page 1

Table 3: Benefit Payments and Exhaustions by Local Workforce Area (LWA)

Local Workforce Area	Unemployment Weeks Insura Insurance Paid Paid		Average Benefit Payment	Program Exhaustees	
State Total	161,672,356	570,939	283	2,414	
Bluegrass LWA	31,429,197	115,972	271	364	
Cumberland LWA	8,365,508	34,475	243	124	
EKCEP LWA	11,630,807	41,188	282	409	
Green River LWA	5,802,029	21,458	270	124	
Kentuckiana Works LWA	43,683,086	149,208	293	497	
Lincoln Trail LWA	9,161,583	32,584	281	128	
Northern Kentucky LWA	13,377,127	45,743	292	155	
South Central LWA	9,432,222	34,134	276	148	
TENCO LWA	6,139,283	22,083	278	151	
West Kentucky LWA	12,203,170	44,868	272	265	
Interstate	1,544,522	4,219	366	49	
Commuter	8,903,822	25,007	356	-	

Table 4: Total Insured Unemployment and Average Weekly Claimants by Local Workforce Area (LWA)

Total Weeks Average Number of Claimed Local Workforce Area Weeks Claimed All Programs UI UCFE UCX 772 133,907 595,140 593,769 599 State Total 26,970 119,868 119,662 93 **Bluegrass LWA** 113 6 18 Cumberland LWA 8,198 36,434 36,410 28 9,780 43,467 43,391 48 EKCEP LWA 4,800 21,333 21,317 16 -Green River LWA 35,084 155,927 155,727 55 145 Kentuckiana Works LWA 91 7,861 34,938 34,781 66 Lincoln Trail LWA 52 10,632 47,253 47,166 35 Northern Kentucky LWA 8,211 36,494 36,445 14 35 South Central LWA 22,822 22,775 17 30 5,135 **TENCO LWA** 50 117 10,191 45,295 45,128 West Kentucky LWA 1,118 4,971 4,903 30 38 Interstate 5,926 26,338 26,064 168 106 Commuter

Table 5: Weeks Claimed by Local Workforce Area (LWA)

July 2020

Local Workforce Area	Total All Programs	Regular UI	UCFE	UCX
State Total	595,140	593,769	599	772
Bluegrass LWA	119,868	119,662	93	113
Cumberland LWA	36,434	36,410	6	18
EKCEP LWA	43,467	43,391	48	28
Green River LWA	21,333	21,317	-	16
Kentuckiana Works LWA	155,927	155,727	55	145
Lincoln Trail LWA	34,938	34,781	66	91
Northern Kentucky LWA	47,253	47,166	52	35
South Central LWA	36,494	36,445	14	35
TENCO LWA	22,822	22,775	17	30
West Kentucky LWA	45,295	45,128	50	117
Interstate	4,971	4,903	30	38
Commuter	26,338	26,064	168	106

Includes UI-only claims and joint claims involving state UI combined with UCFE or UCX.

Table 6: Selected Characteristics of the Insured Unemployed During the Week Including the 19th by Local Workforce Area (LWA)

July 2020

Local Workforce Area	Total Insured Unemployed	Percent Female	Percent Non-White	Percent Age 21 and Under	
State Total	139,828	53.3%	16.2%	3.5%	
Bluegrass LWA	28,244	55.6%	16.9%	4.0%	
Cumberland LWA	7,813	54.4%	2.1%	4.0%	
EKCEP LWA	9,762	47.9%	1.1%	2.9%	
Green River LWA	4,757	50.1%	8.2%	5.3%	
Kentuckiana Works LWA	36,222	54.8%	29.7%	2.8%	
Lincoln Trail LWA	7,941	56.1%	11.1%	3.8%	
Northern Kentucky LWA	11,036	52.6%	8.1%	4.6%	
South Central LWA	8,433	54.2%	13.2%	3.2%	
TENCO LWA	5,001	54.2%	4.5%	5.0%	
West Kentucky LWA	10,290	54.3%	16.7%	3.3%	
Interstate	4,056	42.1%	12.2%	2.4%	
Commuter	6,273	44.9%	18.5%	1.5%	

Regular state UI weeks claimed during the week including 19th.

Percentages are taken from a 20% sample during the survey week.

Table 8: Insured Unemployed From Coal Mining, Construction, and Manufacturing by Local Workforce Area

July 2020

Local Workforce Area	Mining	Construction	Manufacturing	
State Total	1,227	5,411	17,301	
Bluegrass LWA	-	919	3,075	
Cumberland LWA	16	412	1,335	
EKCEP LWA	803	564	516	
Green River LWA	172	204	801	
Kentuckiana Works LWA	-	946	3,706	
Lincoln Trail LWA	-	440	1,603	
Northern Kentucky LWA	-	248	1,113	
South Central LWA	-	100	1,768	
TENCO LWA	-	396	627	
West Kentucky LWA	92	580	1,991	
Interstate	104	243	136	
Commuter	40	359	630	

** - During the week including the 19th.

Table 9: Total Benefits Paid, Weeks Compensated, and Average Weekly Beneficiaries by Local Workforce Area (LWA)

Average Weekly **Beneficiaries Local Workforce Area Benefits** Weeks Compensated 162,208,638 572,008 128,702 State Total 26,139 31,531,952 116,175 **Bluegrass LWA** 8,384,553 34,511 7,765 Cumberland LWA 41,264 9,284 11,658,287 EKCEP LWA 5,809,084 21,470 4,831 Green River LWA 43,783,883 149,393 33,613 Kentuckiana Works LWA 9,253,590 32,748 7,368 Lincoln Trail LWA 13,424,347 45,824 10,310 Northern Kentucky LWA 34,204 9,458,140 7,696 South Central LWA 6,154,398 22,118 4,977 **TENCO LWA** 12,275,290 45,017 10,129 West Kentucky LWA 1,571,292 962 4,277 Interstate 8,903,822 25,007 5,627 Commuter

Table 10: Initial Claims UI-UCFE-UCX by Local Workforce Area (LWA)

July 2020

State Total	108,373
Bluegrass LWA	32,575
Cumberland LWA	9,905
EKCEP LWA	4,682
Green River LWA	3,277
Kentuckiana Works LWA	26,854
Lincoln Trail LWA	4,054
Northern Kentucky LWA	5,637
South Central LWA	6,837
TENCO LWA	2,525
West Kentucky LWA	7,815
Interstate	659
Commuter	2,504
Liable State	1,049

Includes all claims in which state funds are involved, including UI-only claims, and joint claims involving state UI with UCFE or UCX.

Table 11: New UI Claims by Class by Local Workforce Area

July 2020

Local Office	Total New Claims	Class A	Class B	Class C	Other
State Total	27,310	-	27,310	-	-
Bluegrass LWA	5,761	-	5,761	-	-
Cumberland LWA	1,803	-	1,803	-	-
EKCEP LWA	2,496	-	2,496	-	-
Green River LWA	1,031	-	1,031	-	-
Kentuckiana Works LWA	6,364	-	6,364	-	-
Lincoln Trail LWA	1,429	-	1,429	-	-
Northern Kentucky LWA	1,988	-	1,988	-	-
South Central LWA	1,577	-	1,577	-	-
TENCO LWA	1,010	-	1,010	-	-
West Kentucky LWA	2,013	-	2,013	-	-
Interstate	449	-	449	-	-
Commuter	1,389	-	1,389	-	-

Claimant Classifications:

A - No recall date and specialized job skills

B - Positive return prospects

C - No definite recall date and non-specialized job skills

Other - Same as C but with fewer job skills

Table 12: Average Duration of Claims by Local Workforce Area

July 2020

		All Claimants	"A" Claimants	"B" Claimants	
Local Workforce Area	Average Duration Two Years Prior	Average Duration One Year Prior	Current Period Average Duration	Current Period Average Duration	Current Period Average Duration
State Total	19.0	18.2	11.3	19.2	10.6
Bluegrass LWA	19.1	18.8	10.3	18.2	9.7
Cumberland LWA	18.9	19.2	11.2	21.1	10.4
EKCEP LWA	18.8	16.7	13.7	21.9	12.4
Green River LWA	19.3	17.0	10.6	16.8	10.1
Kentuckiana Works LWA	20.0	19.9	11.5	18.3	11.0
Lincoln Trail LWA	14.6	17.1	11.2	20.3	10.5
Northern Kentucky LWA	18.4	18.1	10.9	18.2	10.3
South Central LWA	18.0	15.6	10.8	19.2	10.1
TENCO LWA	19.7	18.2	12.0	20.6	11.2
West Kentucky LWA	19.4	17.1	11.8	19.3	11.1
Interstate	24.1	22.8	19.9	18.4	20.9
Commuter	19.4	18.3	11.8	19.6	10.8

Current period's duration is for the 12 months ending with the current month.

Duration is for regular program only.

Definitions:

"A" Claimants - Claimant who do not have a definite recall date.

"B" Claimants - Claimant who have a definite recall date.

Table 13: UI Non-Monetary Determinations Time Lapse Affected Week Separations by Local Workforce Area

Local Workforce Area	Less Than 7 Days	8 - 14 Days	15 - 21 Days	Total Timely	Greater Than 70 Days	County Total	Percent Timely
State Total	4,281	211	122	4,614	586	5,730	80.5%
Bluegrass LWA	776	35	15	826	91	1,005	82.2%
Cumberland LWA	318	18	17	353	62	462	76.4%
EKCEP LWA	334	13	15	362	54	465	77.8%
Green River LWA	153	8	6	167	25	215	77.7%
Kentuckiana Works LWA	1,017	46	31	1,094	132	1,340	81.6%
Lincoln Trail LWA	309	15	7	331	47	417	79.4%
Northern Kentucky LWA	344	20	7	371	39	454	81.7%
South Central LWA	290	19	5	314	32	383	82.0%
TENCO LWA	173	10	5	188	25	237	79.3%
West Kentucky LWA	367	20	10	397	42	472	84.1%
Interstate	58	3	2	63	14	86	73.3%
Commuter	142	4	2	148	23	194	76.3%

Table 14: UI Non-Monetary Determinations Time Lapse Affected Week Non-Separations by Local Workforce Area

Local Workforce Area	Less Than 7 Days	8 - 14 Days	15 - 21 Days	Total Timely	Greater Than 70 Days	County Total	Percent Timely
State Total	1,357	143	68	1,568	210	2,919	53.7%
Bluegrass LWA	255	15	12	282	29	388	72.7%
Cumberland LWA	109	7	3	119	17	205	58.0%
EKCEP LWA	125	3	3	131	26	263	49.8%
Green River LWA	41	6	2	49	7	82	59.8%
Kentuckiana Works LWA	353	24	16	393	41	964	40.8%
Lincoln Trail LWA	77	9	5	91	14	158	57.6%
Northern Kentucky LWA	133	23	4	160	15	254	63.0%
South Central LWA	80	7	8	95	16	191	49.7%
TENCO LWA	39	31	6	76	11	143	53.1%
West Kentucky LWA	104	13	6	123	19	178	69.1%
Interstate	8	1	-	9	8	21	42.9%
Commuter	33	4	3	40	7	72	55.6%